BE—E (FM4E3A3ELR)

1 RIS TEER & SR #,

2 EIERRRAREE DB AL, RBER ITRAEEREE % 8 #,

) FH TR BE#CED FEIR FIEHCE2) B EHES
11463 |501% ogi J\IEFEH HY (BETIEAEL) 2A26H HY (EEMHEHKE) 2B

11464 |304% 7 IR HY (BETEAEW) 2B 248 HY A
11465 |10k |Z1E IR HY (BETIEAEW) 2R 25H HY mL

11466 |204% S BRREFTERN HY (EETIEAEW) 2R 28H HY (HFE - REMEK3T) E=yan=|

11467 [104% St aFHT FRER 2H?26H »H) L

11468 |10mkim (B BRREFTERN HY (BETIEAEW) 3A1H HY mL

11469 404K i BIR™ HY (BETEAEW) 2R 28H - E=yan=|

11470 |204% i I HY (BETEAEW) 2R 28H - TILNA b
11471 |40% i BIR™ HY (BETEAEW) 2B 27H HY (HFE - REMEKLL Bz
11472 |804% i I HY (BETIEAEW) 2R 26H H') (EEHHEKE) %L

11473 |304% C2Ris BIR™ HY (BETIEAEW) 2R 25H HY) Bz
11474 |404% St & HY (BIETIEAEW) 2R 26H HY (HE - REMER2T) N3]

11475 [404% peqs & HY (BEIETIEAEW) 2R22H HY (HE - REMER2T) N3]

11476  |107%Ki |B14 A& HY (BIETIEAEW) 2R24H HY (HE - REMER2T) 7w L

1/16=—2
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= FH TR BE#CED FEIR FIEHCE2) B EHES
11477 |60f% B $KI BT HY (EETIEAEWL) 2A26R - E=vag=|
11478 |10mkim (B SRR AT HY (BETEEW) 3A1RH HY L
11479  |204% 7 BRREFTERN HY (EETIEAEW) 2B 28H HY (BB - REMER2) E=zan=]
11480 |20f% B J\IEF HY (BETEARL) 2A24H HY (HE - REMER2) K8
11481 |10mkim (B BRREFTERN HY (BETIEAEW) 2R 22H HY (HFE - REMEK2T) %L
11482 |304% S I\ HY (BETIEAEW) 2R 248 HY (HFE - REMEK2T) E=yan=|
11483 |104% S I\ HY (BETIEAEW) 2A241 HY (HF - REMEK2T) %L
11484 |10k %1% I\ HY (BETIEAEW) 2A241 HY (HF - REMEK2T) %L
11485 [304% C2Ris BRREFEN HY (BETEAEW) 2A241 HY (BH42) E=yan=|
11486 [501% S BRREFTEN HY (EFETIEHRL) 2H26H HY (HF - REMER2T) frgan=|
11487 |10mkim %1% BRREFEN HY (BETIEAEW) 2A241 HY mL
11488 104 C2Ris oy HY (BETIEAEW) 2R278 - mL
11489 |104% i BRREFREN HY (BETIEAEW) 2A27H - %L
11490 [304% St BRREFRERN HY (BIETIEAEW) 3A1H - E=gan|
11491 |20f% B B4 (RARBAAERN) HY (BETIEAEW) 2A28H HY mL
11492 (204X St ERT HY (BETIEARW) 2A26H - L




3/16=—2

= R R EE#CEL) FER FAEB (F2) AR e
11493 |104% S5 BRREFTERN HY (BETEAEW) 2R 26H - L
11494  |604% 7 BRREFTERN HY (BETEAEW) 3A1H HY iz =]
11495 [604% S5 IR HY (BETEAEW) 3A1H HY L
11496 |404% peq SRR AT HY (FEETIEAW) 2A28A HY L
11497 |104% S BRREFTERN HY (BETIEAEW) 2A27RH HY mL
11498 |10k (B I\ HY (BETIEAEW) 2R 28H HY mL
11499 [50f4% S I\ HY (BETIEAEW) 2R 28H HY mL
11500 |10k |Z1E IR HY (EETIEAEW) 2R 28H HY (HFE - REMEKRLL) %L
11501 |104% i BRREFEN HY (BETEAEW) 2B 27H HY (HE - REMEK3T) 3L
11502 404K i e HY (BETIEAEW) 3A2H HY E=yan=|
11503 |104% C2Ris e HY (BETIEAEW) 3A2H HY mL
11504 |10mkim (B e HY (BETIEAEW) 2R278 HY) L
11505 |404% peq L B R RATE N HY (BETEARL) 2A24R HY (HE - REMEHR3T) E=vag=|
11506  [304% B BRREMEN HY (EETEARWL) 2R 26H HY L
11507 |604% B BRREMEN HY (BETEARL) 3A1H HY (BB - REMERLD) E=vag=|
11508 |604% Bk B R RATE N HY (BETEARL) 2R24H HY (F1#58) L




4/16R—

= FH TR BE#CED FEIR FIEHCE2) B EHES
11509 |601% peqis BRREFTEN HY (BETEEW) 2R24H HY (FK58) L
11510 [301% 7 BRREFTEN HY (BETEEW) 2R24H HY (FK58) AT e
11511 |30f% B IR HY (BETEARL) 2H28H - NS
11512 |504% 7 BRREFTERN HY (BETEAEW) 2A21H HY (HE - REMER2) A
11513  [10F%kiH | Btk SRR T HY (BETEARL) 3A1H - L
11514  |204% i BRREFTERN HY (BETIEAEW) 3A1H - E=yan=|
11515 404K i I\ HAER 3A1H HY (EFEEXRE) BilzN::4=]
11516  [204% i BRREFTERN HY (EETIEAEW) 2R 28H HY (HFE - REMEK3T) E=yan=|
11517 |204% i BIR™ HY (BETEAEW) 3A1H HY (HE - REMEK2T) W= bR A~ —
11518 [301% S HEBRIEFTE N HY (BETIEAEW) 2R27H HY (HF - REMER3L) frgan=|
11519 [404% 7 HEBRIEFTE N HY (BETIEAEW) 2R27H HY (HF - REMER3L) frgan=|
11520 [304% i =B HY (BETIEAEW) 2R 28H HY (HFE - REMEK3L) E=yan=|
11521 |10mkim (B REMREFTER HY (BETIEAEW) 2R 28H - %L
11522  |604% St &M AR 3A1H HY) BEX
11523 [204% B AR AT E W HY (EETIEARWL) 2R 28H »Y E=vag=|
11524 (301X S HEBRIEFTE N HY (BIETIEAEW) 2R 28H HY (HE - REMERL2) E=gan-|
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11525 |10k (&M% FERRIBFTE AN HY (EETIEAEW) 2B 28H HY (BB - REMERA2) L
11526  [204% peq AR AT E N HY (BEETEARL) 2A27R HY (KB - REMERA2) BileNi=]
11527 |10mkim (&M% %] HY (BETEAEW) 2B27H HY L
11528 |10/&=Ei |&1E =l HY (BETIEAEL) 2A28H HY (BB - REMERA2) L
11529 |10m%kim |zt s[5} HY (BETEARL) 3A1H HY (BB - REMERL2) L
11530  |40f% B E(Zn HY (BETIEAEWL) 2A26R - HE
11531 [50f% S bk HY (BETIEAEW) 2R 28H HY E=yan=|
11532 [30f% i HEREEFTEN HY (BETIEAEW) 2R 27H - E=yan=|
11533  [504% B REMREEATE N HY (BEETIEAW) 2A28A - HE%
11534 |104% i L& HY (BETEAEW) 2R 23H - %L
11535 404K i REMREFTEN HY (BETIEAEW) 2R 25H HY) E=yan=|
11536 104X C2Ris =B HY (BETIEAEW) 2A27H HY mL
11537 |104% i =BT HY (BETIEAEW) 2A27H - %L
11538 [104% Bk RERRIEFTE N HY (BETEARL) 2R 28H HY (HBE - REMEHX3D) L
11539 [704% peq 5[ l=hs) HY (BETEARL) 2R 28H HY L
11540 [104% peq 5[ l=hs) HY (BETEARL) 2R27H HY L




6/16~=—

= R R EE#CEL) FER FAEB (F2) AR e
11541 |104% 7 FERRIBFTE AN HY (BETEAEW) 2B 25H HY L
11542 |504% St el HY (BETIEAW) 2R 25H - Ergan=|
11543  [105%ki |zt S| l=hs HY (FEETEAW) 2R 28H HY L
11544 |40f% peq AR AT E N HY (FEETIEAW) 2A28A HY N 3=
11545 [104% B s[5} HY (BETIEAEWL) 2A26H HY L
11546  [304% i bk HY (BETIEAEW) 2A27RH HY iz
11547 |504% S HEREEFTEN HY (BETIEAEW) 2B27H HY iz
11548 [504% i HEREEFTEN HY (BETIEAEW) 2A27RH HY E=yan=|
11549  [304% C2Ris HEMREFTER HY (BETEAEW) 2B 27H - E=yan=|
11550 [501% 7 =B HY (EFETIEHRL) 2R27H o)) SifzN3=]
11551 |10mkim (%1% bk HY (BETIEAEW) 2R 28H HY mL
11552 [304% C2Ris bk HY (BETIEAEW) 2R 28H HY) E=yan=|
11553 |10 kim (B bk HY (BETIEAEW) 3A1H HY mL
11554  |404% poq L AR EATE W HY (EETEARWL) 2R 28H »Y E=vag=|
11555 [104% B (Zn HY (BETEARL) 2R 25H HY L
11556  |404% B (Zn HY (BETEARL) 2R 25H - E=vag=|
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= FH TR BE#CED FEIR FIEHCE2) B EHES
11557  [804% S5 FERRIBFTE AN HY (BETEAEW) 2B27H HY L
11558 [104% S5 L& HY (EETIEAEW) 28278 HY (FR67) L
11559 |30f% peq x|l HY (BETEARL) 3A1H HY (BB - REMERA2) K8
11560 |104% 7 .k HY (BETEAEW) 2A27H HY L
11561 |10mkim (B bk HY (BETIEAEW) 2A27RH HY mL
11562 |104% S bk HY (BETIEAEW) 2A241 - %L
11563 |104% S L& HY (BETIEAEW) 2R 26H HY mL
11564  [604% i bk HY (BETIEAEW) 2R 28H HY E=yan=|
11565 404K i bk HY (BETEAEW) 2R 28H HY E=yan=|
11566 |104% C2Ris bk HY (BETEAEW) 2R 26H - E=yan=|
11567 [304% i L&™ HY (BETIEAEW) 2R 26H HY) Bz
11568 |104% i L&™ HY (BETIEAEW) 2R 26H HY mL
11569 |404% i L&™ HY (BETIEAEW) 2R 25H HY) E=yan=|
11570 [104% St EEm HY (EETIEHRL) 2A26H HlY) (FR6T) L
11571 |104% B (Zn HY (BETEARL) 2R27H - L
11572 |10m%Kum | B4 &M HY (BIETIEAEW) 2R20H HY 7L
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= R R EE#CEL) FER FAEB (F2) AR e

11573  [504% 7 .k HY (BETEAEW) 2A21H - E=zan=]

11574 [504% B S| l=hs R 2A24R - E=vag=|

11575  |504% B (ZSn HY (EETIEAWL) 2A25A - Sk=ES

11576 |10mkim (B .k HY (BETEAEW) 3A1H HY L

11577 |10mkim |Z1E HEREEFTEN HY (BETIEAEW) 3A1H HY mL

11578 [304% i bk HY (BETIEAEW) 3A1H HY W= h A<~
11579 |104% i bk HY (BETIEAEW) 3828 HY mL

11580 [10m%kim | Btk s[5} HY (BETEARL) 3A1H HY (BB - REMERL2) L

11581 |10k %1% bk HY (BEETIEAEW) 2R 23H HY (HFE - REMEKL2) 3L

11582 |104% i L& HY (BETEAEW) 2A27H HY mL

11583 |10mkim &M% L&™ HY (BETIEAEW) 3A1H - %L

11584 |30f% Bk REMRIEFTE HY (BEETIEAW) 2A25A »Y) HE%

11585 |30f% poq RERREEFTE HY (BEETIEAW) 2A25A »Y) HE%

11586 |404% poq i RERRIEFTE N HY (BETEARL) 2R27H - E=vag=|

11587 [504% B B HY (EETIEARWL) 2R 25H - HE%

11588 [104% St BN FRER 2A28H HlY) (FR61) L




9/16~=—

= R R EE#CEL) FER FAEB (F2) AR e
11589 |104% 7 B HY (BETEAEW) 2B27H HY (FK61) L
11590 |104% S5 B HY (BETEAEW) 2B27H HY (FK61) L
11591 |104% S5 B HY (EETIEAEW) 3A1H HY (FK61) L
11592 |20f% B B3 HY (FEETIEAW) 2R 28H - E=vag=|
11593  [304% B BNRERTE N SRR 328 »Y E=vag=]
11594 |10/ B BNREFTE AN AR 382H HY 7w L
11595 [304% S & /7 I T HY (BETIEAEW) 2B27H - E=yan=|
11596  [104% 7% BN AEIR 3A2H HY (F861) mL
11597 |104% C2Ris BN HY (BETEAEW) 2R 28H HY (FR61) 3L
11598 [304% peq L B HY (BEETIEAW) 2A26R HY (BB - REMEX28) ESNES
11599 (604X S BN HY (EFETIEHRL) 3A2H HlY (HE - REMK26) SifzN3=]
11600 |404% i BN HY (BETIEAEW) 3A1H HY (FR61) E=yan=|
11601 |104% i BN HY (BETIEAEW) 2A27H HY (FR61) %L
11602 [104% peqis BN HY (EETIEHRL) 3A1H HlY) (F®61) L
11603 [104% 7 BN FRER 3A2H HlY) (FR61) L
11604 [104% St BN HY (EFETIEHRL) 2A28H HlY) (FR61) L




10/16~—%

= R R EE#CEL) FER FAEB (F2) AR e
11605 |104% 7 B HY (EETIEAEW) 28278 HY (FK61) L
11606  |504% B ENREFTE A HY (BEETEARL) 3A1A - E=vag=|
11607 404 S5 B HY (BETEAEW) 3A1H HY E=zan=]
11608 |104% S5 B HY (EETIEAEW) 3A1H HY (FK61) L
11609 [301/% St BN HY (EFETIEHRL) 2R24H »H) BEZ
11610 (304% S BN HY (BETIEAEW) 2R 26H HY E=yan=|
11611 404 i BN HY (BETIEAEW) 3828 HY (F861) BEX
11612 404K S BN HY (EETIEAEW) 3A1H HY (F861) E=yan=|
11613  [10m%kiE |zt B HY (BETEARL) 3A2A HY (BB - REMER26) L
11614 404K i BN HY (BETIEAEW) 2R 28H HY (HE - REMEK26) NHBE
11615 |204% C2Ris BN HY (BETIEAEW) 3828 HY) E=yan=|
11616 |104% C2Ris BN HY (BETIEAEW) 3A1H HY (FR61) %L
11617 |304% i —BEh HY (BETIEAW) 2R 28H H') (EEMEKS) NHBE
11618 |404% poq L —BH HY (BETEARL) 3A1H HY (BEEHE16) EilzNs]
11619 [804% peq —BEH HY (BETEARL) 2R 28H HY (BEEHEZ16) L
11620 [504% Bk —BIRBATE N HY (BETEARL) 2R27H HY (BEEHEK1LS) BilZNE=]

-10 -



11/16—%
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11621 |10mkim (B —BIREBFTE M HY (BETEAEW) 2B 23H HY L
11622 |304% 7 —B HY (BETEAEW) 2R 25H HY E=zan=]
11623 |504% St —Bgm HY (BETIEAW) 2A27H »HY) BE%
11624 |504% B —Bm HY (FEETIEAW) 2A27R HY E=vag=|
11625 [504% i —BI™ HY (BETIEAEW) 2A27RH HY mL
11626 |10f% peq L —BgH HY (BEETEAW) 2A25H HY (F168) L
11627 |10f% peq L —BgH HY (BEETEAW) 2A28H HY (F168) L
11628 |10f% peq L —BgH HY (BEETEAW) 2A27H HY (F168) L
11629 [10f4% C2Ris —BREFERN HY (BETEAEW) 2R 28H - 3L
11630 |104% i —BREFTEN HY (BETEAEW) 2R 28H - %L
11631 |10mkim (B —BREFTERN HY (BETIEAEW) 2A27H - %L
11632  [801% C2Ris —BREFTERN HY (BETIEAEW) 2A27H - %L
11633 |10mkim (B —BREFERN HY (BETIEAEW) 3A1H - %L
11634 [204% B —BH HY (EETEARWL) 3A2H - E=vag=|
11635 |10m%AKum |21% BERT=E™ HY (BIETIEAEW) 3A1H - 7L
11636 [204% peq BERTE ™ HY (BETEARL) 3A1H HY (BB - REMER3) L

11 -
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11637 [404% B peRT AT HY (BETIEAEL) 2A28H HY (BB - REMERAI) 2B
11638 |501% ogi BERT = H™ HY (BETIEAEL) 2A22H HY (BB - REMERAI) BEX
11639 |10mkim (B BRI HE™ HY (EETIEAEW) 2B27H HY (HE - REMERAI) L
11640 |105%Ki |BH BERT & HY (BEETEARL) 3A1A HY (KB - REMERA3) L
11641 |10k (B BERI=HE T HY (BETIEAEW) 3828 HY (HFE - REMEKRL3) %L
11642 |304% S BERI=HE T HY (BETIEAEW) 2R 28H HY E=yan=|
11643 |10mkim (B ERREMEN HY (BEETIEAEW) 2B 25H HY (HFE - REMEK3S) %L
11644 404K i ERREMEN HY (BETIEAEW) 3828 HY (HFE - REMEK3S) iz
11645 [404% S ERREMEN HY (BETIEAEW) 2R27H HY (HE - REMEKR3S) frgan=|
11646 |704% i ERREFTEA HY (EETIEAEW) 2R 26H HY (HFE - REMEK3S) %L
11647 |501% 7 ERREMEN AR 3A2H HY N3
11648 [204% C2Ris ERREFTEA HY (BETIEAEW) 2B 27H - E=yan=|
11649 |10mkim |Z1E ERREFTEA HY (EETIEAEW) 2R 26H HY (HFE - REMEK3S) %L
11650 |10 |ZiE ERREMEN HY (EETIEHRL) 2R 25H HY (HE - REMKR3S) 7w L
11651 |10 |ZiE ERREFTEA AR 3A1H HY (HE - REMEX3S) 7w L
11652 |10/ B ERREMEN HY (EFETIEHRL) 3A2H HY (HE - REMEK3S) 7w L

-12 -
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11653 |10/ |Z 1% ERREMEN HY (EETIEHRL) 381H HY (HFE - REMEK3L) 7w L
11654 (10K |&E ERREMEA HAER 3A1H HY (BB - REMER3G) L
11655 |10#%KH | B4 ZRREFREN FEREIR 3818 HY (BB - REMEHX3S) L
11656 |10m%KiH |z ZRREFREN FEREIR 3818 HY (HB - REMEHX3S) L
11657 |10mkim (B ERREMEN HY (BETIEAEW) 3A1H HY (HFE - REMEK3S) %L
11658 |10m%ki | B4 ZRREFREN SRR 3A18H HY (BB - REMEHX3S) L
11659 [10m%kim |zt ZRREFREN HY (BETEARL) 2A27R HY (BB - REMEHX3S) L
11660 |10m%Ki |z ZRREFREN SRR 3A18H HY (BB - REMEHX3S) L
11661 |10mkim (B ERREFTEA EAER 3A1RH HY (HFE - REMEK3S) 3L
11662 |10mkim (B ERREFTEA HY (BETEAEW) 3A1H HY (HFE - REMEK3S) %L
11663 |10m%Ki |BH ZRRBIEN IR 3A1H HY (BB - REMEHX3S) L
11664 |10mkim |Z 1% ERREFTEA HY (EETIEAEW) 2R 28H HY (HFE - REMEK3S) %L
11665 |10mkim (B ERREFTEA HY (EETIEAEW) 2R 26H HY (HFE - REMEK3S) %L
11666 |10m%kim | Btk ZRREFTEN FEREIR 3A1H HY (BB - REMEHX3S) L
11667 |10m%kim | Btk ZRRETEN FEREIR 3A1H HY (BB - REMEX3S) L
11668 |10m%kim |zt ZRRETEN FEREIR 3A1H HY (BB - REMEX3S) L

- 13-
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11669 |10mAim |Z 1% EARBEFAEA IR 3A1H HY (BB - REMEKR3G) L
11670 |105%KiH | B4 ZRREFREN HY (BEETEARL) 2A27R HY (KB - REMER3L) HL
11671 |10mkim (B EARBEFAEA HY (EETIEAEW) 2B 26H HY (BB - REMER3G) L
11672 |104% 7 EHREFTERN HY (BETEAEW) 2A228 - L
11673 404 S =EHRERERN HY (BETIEAEW) 2A22R° HY E=yan=|
11674 |10mkim (B =EHREFRERN HY (BETIEAEW) 2A27RH HY mL
11675 |10m%kim |zt EERBMEN HY (BETEARL) 3A1H »Y) L
11676 |107%kiH | Btk EERBMEN HY (BETEARL) 3A2A »Y) L
11677 |104% i EHREFRERN HY (BETEAEW) 3828 - 3L
11678 |10k |Z 1% EHREERN HY (BETIEAEW) 382H - 7L
11679 204X C2Ris EHREFREN HY (EETIEAEW) 2R 28H - E=yan=|
11680 |204% i EHREFREN HY (BETIEAEW) 3A1H - E=yan=|
11681 |10mkim %1% EHREFREN HY (BETIEAEW) 3A1H - %L
11682  [40f4% peqis ARE™ HY (EETIEHRL) 3A1H HY SifzN:-9=]
11683 [401% St AR HY (EFETIEHRL) 2A25H »H) N 3=
11684  [504% 7 ARE™ AR 2R20H HY Ergan=|

- 14 -
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11685 [304% B AR EFTE N HY (BEETEARL) 2A28H HY E=vag=|
11686 |10mkim (B AFH HY (BETEAEW) 2A27H HY L
11687 |104% 7 AFH HY (BETEAEW) 2B 26H HY L
11688 |10f% B AR EFTE N FEREIR 3R28 HY) L
11689 404K i ARRBFIERN HY (BETIEAEW) 2R 28H HY) E=yan=|
11690 |204% i ARE™ HY (BETIEAEW) 2R 28H HY mL
11691 |204% i AFEH HY (BETIEAEW) 3828 - E=yan=|
11692 |10mkim %1% ARRBFTERN HY (BETIEAEW) 3828 HY mL
11693  [304% peqis ARREFTEN AR 382H HY frgan=|
11694 |304% S ARREFTEN HY (BETIEAEW) 2B 28H - NS
11695 (304X 7 ARREFTEN HY (EFETIEHRL) 2R27H o)) W= bR <7—
11696 |10m%Ki | B4 —FmM HY (BEETIEAW) 2/217 HY (B - REMEK39) L
11697 [304% peq L —FmM HY (BEETIEAW) 2/217 HY (B - REMEK39) L
11698 [10m%kim | Btk —F HY (BETEARL) 2/28 HY (B - REMEK39) L
11699 [304% % R HY (EFETIEHRL) 3/2 HlY) (HE - REMHK3I) AL N e
11700 |50£% g3 —F® HY (BEETIEAW) 2/27 HY (B - REMEK39) BilZNE=]
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11701  |304% 7 —Fh HY (BETEAEW) 3/1 HY (HE - REMEKR3I) BEX

11702  |104% S5 -y HY (EETIEAEW) 3/1 HY (HFE - REMEK39) L

11703 |704% 7 —FIREFIERN HY (BETEEW) 3/1 HY L

11704 |20f% B “FREFREN HY (FEETIEAW) 2/25 - E=vag=|
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